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N of associated (recoToSim) looper tracks vs dxy

2] F 1%} [%] F (%]
X r x r X - X
8 105l g . sl g I &
s 10°F = E 104k =
g o 10F o
i & s F 8
10°F i g
E . E - =1
E % F 10 °
10°F . 10°F F
E : E 10%f-
10 SRLERLREEERE PEE TRPLEPE- ERRERRD 107 ;
: F 10
B T {+ b A A 10F E
IR . (| 1;.- 1F-
o Grginal— 10006Vt .
T fitted4 1000evt
[24 O O [24 [24 [24
A 3
085 -i5-10 5 0 5 10 15 20 0¥ =5-10 5 0 5 10 15 20 086 -i5-10 5 0 5 10 15 20 051510 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
1%} 1%} PU— (%]
x X X .
Q [} Q .
g g g b
= © 10° © :
E & g :
a :
S :
] : LS S A
; : 10? :
: : 10 3
' ! m!m Ll
o 1 o L) o v ||||!||||I|| 11 T
: : ||||||||1||II|' P
[h4 14 @ .
[ I || .
0936 20 -0 0 10 20 30 20 0936 20 -10 0 10 20 30 0¥ 20 -0 0 10 20 30

track dz (crr;)

track dz (crﬁ)

track dz (cn;)

track dz (cm)



	Contents
	Page 1


